24 2.794m%/s
1,300ha
2 T =
S.29 S.40 S.41 H.15
1.25m'/s 2.08m°/s _1.66
0.57m'/s 1.09m*/s_ 1.91
0.29m%/s 0.61m/s  2.10
0.11m/s 0.27m’/s_2.45
1
2)( )
-5.1
-5.1
24 2.794 1,300ha
103 930ha
127 2,230ha
23
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17.6Kk

v v
-~ 2199m3/s
0.0062m3/s
0.0093m3/s
] 14.7 k (12.1K)
0.011m3/s v v ()
- 0.0176m3/s
0.011m3/s
11.9k |
0.025m3/s | -
_ 0.322m3/s - N
1 0.1000m3/s 0.1000m3/s
— [ T
] - 0.0750m3/s
. 0.0510m3/s -
0.1380m3/s
_ 0.110m3/s 0.0590m3/s
0.054m3/s
0.0k
-5.2
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5-2

158 ?
22
43
4.5m*/s 0.8m%/s
30
10
20
13
25 17
13
5.2
m3
7 33,616 30.0
13 113,259 55.1
1 8,748 10.0
1 8,322 10.0
5 18,556 16.5
7 48,450 39.0
4 17,153 31.0
2 10,802 30.0
16 182,511 108.1
6 25,660 34.0
11 80,109 103.3
10 102,120 130.0
11 80,220 115.1
13 126,825 161.0
5 183,554 173.0
1 19,098 22.0
17 140,538 205.4
12 121,554 120.0
20 102,562 137.5
16 129,079 193.8
21 45,308 143.2
11 321,828 193.5
6 61,806 100.0
1 5,832 28.0
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